BEAF+FAMERBRKRE SNSFEZERE EBKR
WA B R SH6EIARBRE
20EAEFEETTEEH T FHEEE AR E 4L FHFLSVEEE S EFTFEEN RIRFE
93A 39 A (44.3%) 47X (53.4%) 5 (54%) 20(2.2%)
KBEY
EEFEH FHFresEmmE FHFLUSN S EEFEER KRIRE
19882 118 57 (504%) 54N (47.8%) 5N (4.2%) 20N(1.7%)
18HA4E 99X 57\ (63.3%) 32X (35.6%) 9N (9.0%) 1A (1.0%)
78R4 120 53N (47.7%) 53 A (47.7%) 9A(75%) 5A(4.1%)
16872 98 A 52 A (57.1%) 36.A (39.6%) TA(7.0%) 3A(30%)
BEES 104 59\ (60.8%) 36.A(37.1%) TA(6.7%) 21(1.9%)
1. BB E %k
(1) R+ FrREsR
AR E TR A M &% 4 A ¥ |FERFES e 5% 4 A ¥
BEHE |[fERFR+FRE 14 KRAF [KBRF+FHEE 1
EER |EEF+FRE 1 R |EBE—FT+FRE 2
EBE [BXRF+FHEBRERE 2 418 BEAF+FHENER L - ERE—Fb | 1
,ﬁ_‘;z&ﬁ §§$3ﬁ+$ﬁﬁ;—a 5 T ERF R ENER L AR EE R 1
) Ko F+FREE 3 HERNE [fEERIALGEF+TFRIE 4
J:I:JL:-%I/'I' J:bJL,-%ﬁ'l:"'%rKJI: 1 BT ‘Uﬁiﬁf‘l’%rl&: 2
PR |ER+FREbk 1 - RFFTFRbr 1
= &t 39
(2) FR+=FEE LIS
EZBE AT IE & e % 4 A ¥ |EEREA e % 4 A
INE R IRRE 4 12 [ #r 7K & Jm e 1
BRI TR 3 f2 [ K 2wk 1
U o SRR 2 cmE | RBKAEERERER 1
ED TR 2 BER lemer 1
fEETHIIZELHERRE 2 BRI JI| 1
R REEE 2— 2 =& 1
At Ju 9 3L ) \ DB SR B 1 EIBER [RBET 1
AMNEEL2— 1 AR [ Ko REEZERMERET 1
LN K FR BT 1 WAE [LWAXEEZEEHERR 1
fBEE [NEEERES— 1 B e = Fl K4+ B fmbr 2
FEES - BAHRER 1 XIRF KIRERFERXZAN ERE 1
EXERKXZEHE 1 KR KZFEZE T ERER 1
o ERRE 1 YASHREERE 21— 1
/B fRbr 1 )R [ENBIFELEREVS—|
B2 7AmkRE 1 RAEH 1L EmE 1
T B imbx 1 HR# |EIANAEE2— 1
BERRE 1 HREHERXZRRE 1
B+FRlE 1 FEE |FEXRFEZFEHERRE 1
[R=1EmMEE 1 & &t 47
2. EEFEE
2 4 e & 4 A
g |BARFTFAMBEREERZKRE R 3
TR emksEEnEE 1
HEH [ERMERRKFEXER 1
= &t 5




